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1. Contrast Pull versus Push theories of innovation. (2 Points)
Pull theory of innovation states that service innovations are driven by customer needs. On the other hand, Push theory of innovation states that service innovations originate in scientific laboratories.
2. List the five features that compose a Service Package? (2.5 Points)
The 5 features that compose a Service Package are:

· Supporting facility

· Facilitating goods

· Information

· Explicit services

· Implicit services

3. List 3 strategies a Service Company can use to achieve “Overall Cost Leadership” (1.5 Points)
A Service Company can opt for the following strategies to achieve “Overall Cost Leadership”:

· Seeking out low cost customers
· Standardizing a custom service

· Reducing the personal element in service delivery

· Reducing network costs

· Taking service operations offline

4. Fill in the below equation (1 Point)




Results produced for the customer + Process Quality
Customer Value =  
-------------------------------------------------------



Price to the customer + Cost of acquiring the service



5. Define Line of Visibility? (1 Point)
Line of visibility is a line drawn on the service blueprint showing sepertation of front-office from back-office activities.
6. What is Scalability? (2 Points)
Scalability is the ability of a firm to improve contribution margins as it grows.
7. Briefly explain Taguchi quality methods. (2 Points)

Taguchi quality methods refers to approaches to service process design that ensure “robustness” or an ability to function under adverse conditions.
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